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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check thatthis question paper contains 30 questions.
e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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Wﬁéﬂ:
(i) @Il @usl & G I97 ST 3 /
(ii) YP J97 & GrH7 37 3F YT T3 3 |

(iii) FPT &1 — 5 3R 16 — 20 37a TG 3T F97 &, I4P J97 1 37% BT & | T 3971 &
I UE JIFTH T8 /

(iv) I¥7 G&IT6 — 8 3K 21 — 23 T I 97 8, I F97 3 37 &1 &/ T¥1 J971 & I
GIHT=IT: 60 Jeg] & 371 7 &7 |/

(v) FITGEIT9 — 11 37K 24 — 26 T 41 7T FRIT F7 &, T4 Jv7 4 37 &1 &/ T4 F571
% N GIEI=Id: 70 Il & s 751 |

(vi) T GEIT12 - 15 3K 27 — 30 T 70T 97 &, I T97 & 6 3% & | T 71 & I
G 100 31651 @ 371 7 &7 |

(vii) ITIH J¥71 & I TISTH UF G215 El4 qleT 79T JATTYe [H637aR Je THT & Yk
3T 19T STIT 18T |

General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks forquestions are indicated against each question.

(iii) Question number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each-They are required to be answered in one sentence.

(iv) Question number 6 — 8 and 21 — 23 are short answer questions carrying 3 marks

each. Answers to them should not normally exceed 60 words each.

(v)  Question number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Question number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.
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SECTION - A
. T=aq HYiid shida 9 =& AT g 7 1
What 1s meant by price floor ?
2. Tordl 9] ol AT S S AAT AT G 7 1

When 1s a good considered a normal good ?

3. el GENH (3M™) TR, Q 3ITeH THT 3TN ‘n’ $hIg ohl AT &I, Al HH ey I8
gl : (Tel fershed i)
(A) “had TR —~TR__,
TR T 9iadq
(B) hac 0 & TR

(C) (A) AR (B)gHI
(D) 39URH H ° his i T8 1

Let TR be total revenue, Q be quantity of output, and ‘n’ the number of units, then
marginal revenue equals : (choose the correct alternative)

(A) TR —TR  only
Change in TR

() Change in Q only

(C) Both (A) and (B)

(D) None of-theabove

4.  FAIHIAH IcdATe Hedd shl TILHTET ST | 1

Define short-run production function.

5. 3EY haradl 3R Trohd1aAl ehl SISl T Bl & : (F&! Taehed gHu) 1
(A) ohdel qUI YiaIrar |
(B) hdcd UehTTeIehIcHeh TR |
(C) (A) IR (B)qHI A
(D) 3STcTehR |
There are large number of buyers and sellers 1n : (choose the correct alternative)
(A) Pertect competition only
(B) Monopolistic competition only
(C) Both i (A) and (B)
(D) Oligopoly
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9.

10.

S8/3

ha 1T TR “Tehdeh ToTu IcdTe fohdT AT8” THETST |

o IR “hd IcqTe ThdT ST GHETET |

Explain the central problem “for whom to produce”.

Explain the central problem “how to produce”.

ST

OR

Teh Tff{ereh IcTed ETeHT sk 37ddd (concave) 1 Bld1 @ ? THEATST | 3

Why 1s a typical production possibility curve concave ? Explain

STel Ush %] <hl shiAd T 4 H TR 3 3 Ufd Sehls &1 ST &, a1 3°ehl HIMT 20 Fohls H TG

30 38 Bl SITdl & | SHeh! shiAd AT AT hl Yeheld <hiTolU |

When price of a good falls from X 4 to X 3 per unit, quantity demanded rises from

20 units to 30 units. Calculate 1ts price elasticity of demand.

Teh 9% <hl Gid =l THTIerd i dTct Tohrgl =X SHReh[ <hl AT hIT |

Explain any four factors that affect the supply of a good.

“HHTd ST 3T EHTd 3T (FETH) 7 T R 3cTeH b1 Fde W 9disy | 3799 3T
U1 SR ST |
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JcdTEH
(3PT3)
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S8/3

qiterdi AT % 3G
(3TS) (3T%)
] 3
& 7
3 10
4 12
5 11

approach. Give reasons for your answer.

UiErdt STl o 431 6 o9 =0Tl shl 8= I | SR ST |

Identity the equilibrium level of output using “marginal cost and marginal revenue”™

Price Output Total cost
Marginal cost
) (units) )
6 | 10 10
6 2 15 d
6 3 21 6
6 4 28 7
6 > 37 9
OR
Identity the three phases of the law of variable proportions. Give reasons.
Variable input Total product
(units) (units)
| 3
2 7
3 10
! 12
S 11
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1. T g TR STSIR hl “HHEY 3c1” TarIvdT o TR qHesy | 4

Explain the implications of the feature “homogeneous products” of a perfectly

competitive market.

2. HdeH ST Al &€ % 14,000 i A1E @ | 3H HH HHHA HU HThR AqH HSIGLl shl N0l
T 18,000 Ufd °18 s el & | 39 i o gty <ht samen il | tEifs &1 g3

hITT | 6

The equilibrium market wage rate 1s < 14,000 per month. The government finding 1t

low fixes minimum wage rate at X 18,000 per month. Examine the implications of this
decision. Use diagram.

hI GIEIA TUETIAT o ToTq 94 §&AT 12 o M W

For the blind candidates only in lieu of Q. No. 12
[ATH Aigll & o Fdo SR ASigl & | FAfeeh (Y1 s o U] hl S

IS | Teh HATHS ICTEL0T okl TINT hif9T |

Explain the implications of fixing mmimum wage rate higher than equilibrium market

wage rate. Use a numerical example.

13. T IUHRHI shaed Gl a7 X 3T Y 1 3UYFT hidl & | ITAAAT [aetsoT o g ST
G hl ITd THSATSU | 6

A consumer consumes only two goods X and Y. Explain the conditions of consumer’s

equilibrium using utility analysis.

4. U Hfth T UNTE FHN IE Hdl 8 | S 30! 99d H R 5 IUR Tl I8 Teh
AT 9184 @liedl & | 9184 98 W Idldl & | 398 Y Uga I dietl T dANTd 371
dagd AANTd RT-RIT 8 ? 3794 3T o TT¢ HIIT ST | 6

A person starts a goods transport business. He purchases a goods carrier using partly
his own savings and partly borrows money. He drives the carrier himselt. What are the
explicit costs and mmplicit costs directly identifiable n 1t ? Give reason for your

dISWCT.
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15. YHSATEU [ Ueh JAUHM dsh (h) §T¢ H QU e shl IR @dd] AR (@) 3T (convex)
BT 2 | 6

L]

AT ITAEATIH e hl ST TR T 1eeh STHIEHE 95k 9T 39k Sagl HEet | Ush

A& TcHeh 3CTEUT SITSTU | 38eh SR ohl ShRUT Hi §dTsU |

Explain why 1s an indifference curve (a) downward sloping from left to right and

(b) convex.

OR

Explain the concept of Marginal Rate of Substitution and its behaviour along the
typical indifference curve. Give a numerical example. Also give reason for its

behaviour.

gig — §

SECTION - B

16. YA T T2Iq Uh R hia-! e ¥ TRId T el H ¥ &idl & | YA o YaH
gdo @id H I8 el gaf hd1 JdT & : (Hal foehed FHT) 1

(A) <T@ %68 (credit) 9 1

(B) <L @Id o slee (debit) &1 H
(C) YSTHTd WTd @ shise (credit) &1 H
(D) YSiHTd WTd @ Sfee (debit) 91 1

An Indian company located in India invests 1n a company located abroad. This

transaction 1s entered 1 India’s balance of payments account on : (choose the correct
alternative)

(A) credit side of current account
(B) debait side of current account
(C) credit side of capital account
(D) debait side of capital account
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17.

18.

19.

20.

S8/3

HEeTRad 359 § WG] TR U 3ATdH U Shaddl & : (Fa! fdehed giHu) 1
(A) IATITIHATAT hl TS &

(B) WH T THa3 &q

(C) (A)TT (B) M

(D) YU H Y s it T

Goods purchased for the following purpose are final goods : (choose the correct
alternative)

(A) For satisfaction of wants
(B) For investment in firm
(C) Both (A) and (B)

(D) None of the above

JRTeIoh Hohel Te] 3CATG § T A 8 ? 1

What 1s meant by real gross domestic product ?

TR H 8 9 1 3Tc& L & ? (F&! foshed FHu) 1
(A) ¥ T

(B) T T

(C) T Yok

(D) ITER H

Which one of the following 1s an indirect tax ? (choose the correct alternative)
(A) Profit Tax

(B) Wealth Tax

(C) Customs duty
(D) Gift Tax

LI SS1e § YT YTTHAT bl ISt ST | 1

Define capital receipts in a government budget.

8
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21. <hIOT ¢t SATST Tob MHTTREd oh H1 TS IF AT HIId AT =1 SHFaR [hdT SITdl & 3
(i) S R 319 STHThTI3A! ol TS o1 YA |
(i) R G Ig 3T U9 W =Y |
(iii) PR FGH I G 391 o df W = |

G1ving reason state how the following are treated 1n estimation of national income :

(1) Payment of interest by banks to 1ts depositors.
(1) Expenditure on old age pensions by government.

(11) Expenditure on engine o1l by car service station.

22.  HHTd IUHFT I TR HHIA S=d T H FAT A BT 8 ? QI o Sid 1 qa9 g 7 3
AT
gHY {1 G =1 ST 8 ? 39h ©deh 915y |

What 1s the difference between marginal propensity to consume and marginal
propensity to save ? What 1s the relation between the two ?

OR
What 1s meant by aggregate demand ? State 1ts components.

23. T 400 U o Al Hew1 i  TEF 37 | T 2,000 FHUS H1 gy 2t 7 | et oren
&1 UNeheld hifeTg | 3

National income increases by X 2,000 crores due to an additional investment of I 400

crore. Calculate the value of investment multiplier.

24, WM AT G0 H IR o YA R Yfdae o 61 A1 8 | 39k () Fehed TS 341G 3T
(W) HeT0T T IS Tl IHTE] hl SIRST hifT | 4
GO
JHRIcHS dTadl JHTAT (SRUTTcHeh STl ST ) | T b shedTu] UL RIT U9 USdl 8 ? Ueh
ICTELT Tohl AT iU |

Suppose a ban 1s imposed on consumption of liquor 1n the country. Examine 1its effects

on (a) gross domestic product and (b) welfare.

OR

How do the negative externalities affect the welfare of the people ? Explain by taking
an example.
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25. Il fatereh 3Aerd ¥ 31UTd 10 Ffderd &1 3R =8 S 3 10,000 &I, 1 A0S Sehl g

STHT GoiH <hl Jishal HHEATST | 4

If legal reserve ratio 1s 10 percent and fresh deposits X 10,000, explain the process of

deposit creation by the commercial banks.

26. Hg19id H glg M | Arfaieres I ST (ST T AT ) hi {HehT shl ST
HITSTT | 4

Explain the role of statutory liquidity ratio in increasing money supply.

27. Rr (Fa) o et 3t a=fiet (A=) fafma et o= 9e hifse | 3fe fafam e i
2 dl 38k HITd 3T 3T I IS It THTE] <hl SIRST hifold | 6

Distinguish between the fixed exchange rate and the floating exchange rate. It

exchange rate falls, explain its effects on exports and imports.

28. ‘S9d AR MW (&Y g TP ™ oh dqer- &l ol MR HSST | {@Trad 1 T
T | T8 Wi THSST Toh IiC sad Mo & AT 81 ai o1 I9Td B | 6

Explain the determination of equilibrium level of national income using ‘saving and

investment’ approach. Use diagram. Also explain the effects if saving 1s greater than
Investment.

hI GG TN o Tl 97 &A1 28 & T W

For blind candidates only in lieu of Q. No. 28.
quy HiT 3T g8y gid fafy ¥ U™ 31 61 Ao T YR i hl s=9d 3R Hawr fafy

UTH <hIfST | GHEATSU =T BT Al s=d a9l | 3k 8l | 6

Derive saving and investment approach from aggregate demand and aggregate supply

approach for determination of equilibrium level of national income. Explain what
happens 1f saving 1s greater than investment.
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29,

30.

S8/3

TR TS T@T € el o THERT ol 3T ohl ST He, ST T JgH il & |
ThR] TS I LR i AT Ie3F TU hid T T L Tl § AN hd ? FHATET | 6

SRAAT

AU Flehi Sole g 3TTeeh TRALeRtuT oh1 3833 hd UTH TohaIT ST Hehdl & 7

Government provides essential items of food grains almost free to the families below

the poverty line. Which objective the government 1s trying to fulfil through the

government budget and how ? Explain.

OR

Explain how the economic stabilization objective can be fulfilled through the

government budget.

(%) STSTR shiHd T Hadl <1 IS 9T (@) ohed UUIT JAST 3T I Jieheid hilald : 6

(1)
(11)
(iii)
(1v)
(V)
(V1)
(vii)
(viii)
(1x)
(X)

faest st Hee e 3™

HAIE bl

SERR TR

fareall sl fHaet =Te] g&dTa
SHHATIAT ShT ITRTHS
AT <hl THiSd 31
STk HETIT

EZR)

11

R )
(—) 20
120
70
10
300
400
20
100
200

300
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Calculate (a) Net Domestic Product at Market Price and (b) Gross National Disposable

Income :
(X Crore)
(1) Net factor income to abroad (—) 20
(11) Indirect taxes 120
(111) Consumption of fixed capital 70
(1v) Net current transfers to abroad 10
(V) Compensation of employees 300
(v1) Mixed income of self-employed 400
(vii) Subsidies 20
(vii1) Rent 100
(1x) Interest 200
(X) Profits 300
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